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Medida 15: um Diagndstico para a
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Diagnostico ACE/2012 - alguns
resultados - |
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Tipologia de | —SrC S
entidades =ulClo= = Resposias

Secretarias
Gerais (SG) 13 0 0
Restantes
organismos
(ORG) 182(%) 36 4
Agrupamentos
de escolas e
escolas nio
agrupadas

(ESCOLAS) 655 404 70
TOTAL 850 440 74
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em 20170 e 2U11

em 2010 e 2011

armazenada | armazenada
69.108 9571 1.016 13,8% 1,4%%
1.045.074 585.057 74.378 55,9% 7,1%
Escolas 179.097 31.881 5.767 17,8% 3,2%
Total 1.293.279 626.509 81.161 48,4% 6,3%
/\5
N.° respostas 487 |, 406 406
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